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Question 1

2
v 8er6036gan Lbeotoo 3obigbo

ol el RelRe TN ol Rel Rel Re

olRelRolRe.

Select one:
a. 2arctg+c
b. 2arcsinx+c
C. 2arcctgx+c

d. 2arccosx+c

Question 2

I
J 2e"dx 8B036g0> LBmd0 Jobybo

Select one:

a. —€° +¢
b. 2e* 4+ ¢
c.e4+e

d. €¥ 4+ ¢

Question 3
[ S=dx
cos?z " 3mbodbgo LEmEo 3obybo

Select one:
a. 2ctgx+c
b. 3cosx+c
C. 3sinx+c

d. 3tgx+c

Question 4
[ Teosxda 86036907 LBoero 3oligbo

Select one:

a. cosir+ ¢
b, 7ctgr + ¢
c. 7sinx + ¢
d. Ttgr + ¢

Question 5


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int \frac{2}{\sqrt{1-x^2}}dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int 2e^xdx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-e^x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2e^x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e^{-x}+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e^x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int \frac{3}{cos^2x}dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int 7cosx dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=cos7x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=7ctgx+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=7sinx+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=7tgx+c

ol el RelRe olRel Rel e olRel Rel Re YD
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f 10 ..
1452 3(\06036300 LBm&o BObUbo
Select one:

a. Warcetgz + ¢

b. 10arctgz 4 ¢

c. l0arccosx + ¢

d. 10arcsinx + ¢

Question 6
[ idx
T 3006036300 LEm&o 30[)350

Select one:

4
a. z2 +c
b. —4x 4+ ¢
4
=t

d. dnjz| + ¢

g

Question 7

J(22 = 3) sin 2d2 §en6436907 LBertao Iolgbo

Select one:
2 (20 —3)cosxz — 2sinz + ¢

b. —(22 — 3)cosz + 2sinz + ¢
C. _(23:_3)51“3:4—25053:4—(3
d. (2z —3)sinz + 2cosz + ¢

Question 8

J (22 — 1) cos 2dz geag8Bgen LBmrtn 3sbnbo

Select one:
a. —(2z — 1)cosz — 2sinz + ¢

b (2z — 1)sinz + 2cosz + ¢
c. (2-?3 - 1)£ﬂﬁ.’i‘:—|—25inm-|-c
q. —(2z — 1)sinz — 2cosz + ¢

Question 9

A
f (z—1)(z+3) dx dmbodbgon LEm&Go 30[)350

Select one:
a. 2In|x-1|+3In|x+3|+C
b. In|x-1|+3In|x+3|+C

C. In|x-1|+2In|x+3|+C


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int \frac{10}{1+x^2}dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arcctgx+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arctgx+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arccosx+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10arcsinx+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int \frac{4}{x}dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{4}{x^2}+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-{4}{x}+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{4}{x^3}+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=4ln|x|+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int (2x-3)\sin xdx 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(2x-3)\cos x-2\sin x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-(2x-3)\cos x+2\sin x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-(2x-3)\sin x+2\cos x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(2x-3)\sin x+2\cos x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int (2x-1)\cos xdx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-(2x-1)\cos x-2\sin x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(2x-1)\sin x+2\cos x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=(2x-1)\cos x+2\sin x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=-(2x-1)\sin x-2\cos x+c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int{\frac{4x}{\left(x-1\right)(x+3)}dx}

©d. -Injx-1]+3In|x+3]+C

Question 10
J‘ 3x+8 d’]"
z{z—4) " 3006036300 LBm&o 30[}‘350
Select one:
a. 5In|x|-2In|x-4|+C
b. -2In|x|+5In|x-4|+C
C. -In|x|-4In|x-4|+C
d. In|x|+2In|x-4|+C

ol Rel el e

Question 11
T - cosridr

608(*)(7)30@0(7) ﬁ}ﬁ

Answer:l

Question 12

603mm3o@0m I

TeosTdr

Answer:l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int\frac{3x+8}{x(x-4)}dx
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int_{0}^{\sqrt{\pi}}{x \cdot cosx^2dx}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\int_{0}^{\pi}{x cosx dx}

